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4. This paper consists of 40 multiple
choice objective types of questions.

5. At the commencement of

examination, the question booklet will
be given to you. In the first 5 minutes,
you are requested to open the booklet
and compulsory examine as below :

(a) To have access to the
Question Booklet, tear off the
paper seal on the edge of this
cover page. Do not accept an
open booklet.

(b)  Tally the number of pages and
number of questions in the
bookiet. Faulty booklets
due to pages/questions
missing or duplicate or

not in serial order or any
other discrepancy should be

(Remaining instructions on last page)
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Which among the following areain India has
the largest number of endemic plant

species?

{A)  Himalayan Region
{B) Malabar Region
{C) Gangetic Plains
D) Western Ghats

The National Environment Research Institute
is located at :

(A) Dehradun
(B)  New Delhi
(C) Jaipur

(D)  Nagpur

Lichens are the best indicator of :
(A)  Noise pollution

(B) Soil pollution

{C) Water pollution

D) Air pollution

Which one of the following is related to
ozone formation?

(A) Photosynthesis process
(B)  Photochemical process
(C) Chemosynthesis process

D) Hydrolysis process
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4

5. Ecosystem is smallest unit of :

(A)  Biosphere
()  Lithosphere
(C) lonosphere

(D)  Mesosphere

6. The pyramid of energy in an ecosystem :

(A) is always upright
(B) is always inverted
(C)  may be upright or inverted

(D)  MNone of the above

7. Secondary consumers deriving their energy

from :
(A)  Producers
(B) Herbivores
{C) Tertiary consumers
(D) From the all

8. Examples of detritivores are
(A} Bacteria and fungi
(B) Snake and Big fish
{C) Rat and Birds

(D) Beetles, Ants and Earthworms
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9. The sequence of eating and being eatenin 9.
an ecosystem is known as :
(A)  Food web
(B)  Food chain
(C) Tropic structure
(D) Al of the above
10. The following is the correct food chain of  10.
grassland ecosystem :
(A)  Grass—» Grasshopper — Frog —
Snake — Hawk
(B)  Grass— Grasshopper— Frog —
Hawk — Snake
(C) Grass —» Frog — Grasshopper —
Snake — Hawk
(D)  Grass — Grasshopper— Snake
— Frog — Hawk
11, An estuary is the place : 1,
(A)  which is rich in nutrients
{B) which usually support an abundance
of fish
(C) where river joins with the sea
(D) Allof the above
>
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12, In a network, different types of organisms 12,
are connected at different tropic levels
called :

(A) Energy flow
(B)  Food chain

(C) Tropic structure
(0}  Food web

13. - The yellowness of the Taj Mahal is an effect

of :

(A)  Acid rain

(B)  Allergens

(C)  Ozone depletion
(D) MNone of the above

14. Hydropower plant converts the kinetic
energy of flowing water into :
(A}  Mechanical energy
(B)  Tidal energy
(C) Wind energy
() Electricity

15. In an ecosystem one type of community is
totally replaced by another over a period of
time is called as :

(A) Ecological balance

(B)  Ecological succession

(C)  Both {A) and (B)

(D)  None of the above
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16.

17.

18.

19.

The following forests are famous for richest 18 -
biodiversity :

(A) Tropical rain forests
(B) Tropical deciduous forests
(C) Temperate rain forests

D) Evergreen forests

Which national park is famous for having  17.

Great Indian one Horned Rhino ?
(A) Rajaji National Park

(B)  Jim Corbett National Park
(C) Eandipur. National Park

(D)  Kaziranga National Park

The diversity between communities is called  18.

H5
(A) Beta diversity

(B) Alpha diversity
(C) Delta diversity

(0) Gamma diversity

Which one represents regulative function of 19,

forests?

(A)  Production of wood

{B)  Conservation of soil and water
(C)  Production of essential oils

(D)  Storage and release of gases
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20.

2%

22.

23.
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Shelford’s law of tolerance is named after: 20,

(A)  James Shelford
(B)  Jacob Shelford
(C)  Emest Shelford

D) None of these

The largest ecosystem of earth is: 21.

(A)  Biome
(B)  Hydrosphere
(C) Lithosphere

(D) Biosphere

EL-Ninoisa: 22.

(A)  Worm ocean current
(B) Sea storm
(C) Tropical disturbance

D) Another name of typhoon

Which one represents requlative function of 23,

forests?

(A)  Production of wood

(B) Conservation of soil and water
(C)  Production of essential oils

(D)  Storage and release of gases
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24,

25.

26.

21,
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The forest cover in our country has recently 94

increased due to:

(A) Increase in natural forest growth
(B) Increase in net sown area

(C)  Plantation by different agencies

(D) None of these

The Himalayan brown bear is an example 25

of:

(A)  Vulnerable species
(B) = Rare species

(C) Endemic species

(D)  Extinct species

The sound above what level is considered 26,

as harmful?

(A)  Above 40 dB
(B)  Above 60 dB
(C)  Above 80 dB

(D)  Above 120 dB

Photochemical smog is related to the 27,

pollution of:
(A)  Soil
(B)  Water
(C)  Noise
(D)  Air
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28. Eco—-toxicology is the study of: 28.
(A) Chemical interactions of organism
and environment
(B)  Physicalinteraction of organism and
environment
(C)  Thermalinteraction of organismand
environment
(D) Biological interaction of organism
and environment
29. What are the steps involved in evaluation of 29,
toxicity ?
(A) Hazard identification and dose-
response evaluation
(B) Chemical analysis
(C) Pathway analysis
(D) Evaluation of long term impact
30.  In GPS, receivers used are: 30.
(A)  Electronic clocks
(B) Atomic clocks
(C) Quartz clocks
(D) Mechanical clocks
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32.

33.
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A passive sensor uses: 31.

(A) Sun as the source of energy
(B) Flash light as a source of energy
(C) Its own source E:-f energy

(D) All of the above

Formation of snow occurs if the cloud  32.

temperature is:

(A) Just above the freezing point

(B) At the freezing point

(C) Below the freezing point

(D) All of these.

The major demerits during EIA study in India ~ 33.

islare:

(A) Lack of structure of expert
committee

(B)  Exemption from public hearing in
various projects

C) Quality of report

(D) All of the above

(11)
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35.

36.
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bn the bases of following statements right
option is:

(i) Leopold matrix is a method of EIA

(i) At present responsibility of EIA is
laid on the project entrepreneur

(A)  Only (i)

()  Only (i

()  Both (i) and (i)
)  Neither (i) nor (i)

In biostatics group of individuals taken for
study is called as:

(A)  Block
(B) Population
(C) Group
(D)  Flock

Which of the following bacterium is called
as the superbug that could clean up oil
spills 7

(A) Bacillus subtilis
(B) Pseudomonas putida
(®] Pseudomonas denitrificans

(D) Bacillus denitrificans
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37.  The surface water are susceptible to  37. . Wl SieT Bl GEFShal & Hgfia w4l

contamination with microorganisms from: Hagdiie FF € ¢
() Theair n
(B)  The surface runoff (B) el S A
(C)  Precipitation (c asf
(0)  Atmospheric water and the surface 0) agEvEdE oW SR wadl i
runoff Idre
38.  The usual mode of gene transferin bacteria 38,  SFIRA & &9 ®FFRT & MR
is known as: fafer =i e €
(A)  Transduction (A) 9
(B) Conjugation B "
(C)  Transformation ©  aREE
(D)  All of the above D) SuUEd g4
39. Which mineral has chemical formula 39. o wfeer @ HA CuFes, 2 ?
CuFeS, ?
(A)  gEEEE
(A) Imenite
; (8)  dMiEe
(B) Bomite
(C) Pentlandite © :
O)  Azurite O TIRS
40.  The provisions of environmental protection ~ 40.  HIE % [P STFRT § WK HTE
in the Constitution were made under: & EHE S 7
(A)  Aicle 5-A (A) TS
(8)  Adicle 21-B (8) 219
(©  Adidle 27-8(h) © ogRE-2r-a(T)
(D)  Adicle 48-A and Article 51-A(g) (0)  oTgERR-48-3d 51-31(5h)
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10.

1.

12.

13.

replaced immediately by a
correct booklet from the
invigilator within the period of
5 minutes. Afterwards, neither
the question booklet will be
replaced nor any extra time be
given.

(c)  After this verification is over,
the question booklet number
should be entered in the OMR
answer sheet.

Each item has four alternative

responses marked (A), (B), (C) and

(D). You should darken correct answer

in corresponding circle.

Your response to the item is to be

indicated in the OMR answer sheet only.

Answers marked in question booklet

will not be evaluated. Rough work is

to be done at the end of this booklet.

YYou have to retum the question booklet

and original copy of OMR Answer

sheet to the invigilator and get the
student's copy of OMR Sheet at the
end of examination compulsorily.

Use of any calculator, mobile, log table
or any electronic gadgets etc. is
prohibited.

In case of any mismatch of questions,
the English version will deemed to be
correct, if the question booklet is
bilingual.

For each question, darken only one
circle on the Answer Sheet. If you
darken more than one circle or darken
a circle partially, the answer will be
treated as incorrect.

Note that the answer once filled in ink
cannot be changed. If you do not wish
to attempt a question, leave all the
circles in the corresponding row blank.
Such question wflié awarded zero
mark.
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HIS. CUL. & ARCHAEOLOGY/80

Who said that 'Chandragupta Maurya' had
trampled the entire India with the help of six

lakh soldiers ?
(A) Plutarch
(B) Strabo
(C) Dimaks
D) Justin

‘Sita’ in Mauryan administration stood for :
(A) Tax levied on artisans

(B) Revenue of the state land

(C) Baren land

(D) All of the above

Who among the following wrote the text
“Tatvapariksha" ?

A) Bhav Brihaspati

B) Ramanuj

C) Bhoj

D) Bharai Gyan

Which of the following kings of Rashirakuta
dynasty built the famous 'Kailash Temple of
Ellora’ ?

(&) Dantiverman

(
(
(

(B) Krishna |
{C) Dhruva
(D) Govinda Il

lbn Batuta, the famous Arab scholar, visited
India during the reign of which of the
following ruler 7

(A) Balban

(B) Mohammad-Bin-Tughlag

(C) Qutubuddin Aibak

(D)  Alauddin Khij

(.3}

CE T MR- e R T

At 1 wemar § TRl Wi @ U
gl 7

(A wEE

(B) &EI

) Tehem

(D) WA

1 gemes 7 e @ ool oy
(A)  HRAR 9T @ A S

B) TEEH =W U
(€ =T qm
0)  SudEd w@H

=1 § @ Thae ‘aEviEr @t Ee
# 7

(&) W= gewfd
(B) R

(€

0)  wuE s

e 7 & e e omEs J “Ta
% Uit dener AFSY” @& R S
oqr 7

(h)  EFaE

(B) T HEH
€ &

() i T

s onE feM ‘gei-agar = | &
e s # W e o ?

(&) ERER]

(B)  FEE-g
€  HIIE T
O  orEegd fawe

[PT.O.]




6. Which of the following Sufi Saint was
popularly known as “Mujahid” ?
(A) Sheikh Bahauddin Zakaria
(B) Sheikh Nasiruddin Chiragh-e-Delhi
(C) Sheikh Ahmad Sirhindi
D) Sheikh Sharfuddin Yahya
T The invasion of Mahmud of Ghazni and
Muhammad Ghori :
(A) laid the foundation of Muslim Rule
in India
(B) resulted in the plundering of wealth
of India
(€ produced lasting cultural effect
D) revealed the military weaknesses
of the Indian Kings
8. The famous poet Amir Khusrou, surnamed
as the “Parrot of India” was the contemporary
of all of the following, except :
(A) Ghiyas-ud-din Balban
(B) Ghiyas-ud-din Tughlaq
(C) Alauddin Khilji
D) [itutmish
8. The famous literary work ‘Kitabul-Hind' was
written by whom ?
(A) Alberuni
(B) Badayuni
(©) Zia-ud-din Barani
) Khafi Khan
10. Who was the Sultan of Delhi at the time of
Timur's invasion ?
(A) Ghiyasuddin Tughlag
(B)  Feroz Tughlag
(C) Abubakar Shah
(D) Nasiruddin Mahmud Tughlag
HIS. CUL. & ARCHAEOLOGY/80
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HIS. CUL. & ARCHAEOLOGY/80

Which king of Vijaynagar Empire built a dam

on the river Tungabhadra to solve the

shortage of water ?

(A) Bukka |

(B) Devaraya |

{C) Devaraya Il

(D) Krishnadevaraya

Who among the following foreign travellers

visited India during the reign of Jahangir ?

(A) Father Anthony Monserate

(B) Francisco Pelsaert

(C) Niccolao Manucci

(D)  Francois Bernier

In which of the following battles are the main

opponents not correctly stated ?

(A) First Battle of Panipat — Babar and
Ibrahim Lodi

(B) Second Battle of Panipat — Akbar
and Shershah

(C) Third Battle of Panipat — Ahmed
Shah Abdali and Marathas

(D) Battle of Plassey - Sirajuddaulah
and Clive

Who among the following introduced

Mansabdari system ?

(A) Shershah

(B) Humayun

€ Akbar

(D)  Jehangir

Who among the following, after succeeding

the throne, was known as emperor Shah

Jahan ?

(A) Jalal-ud-din

(B)  Khurram Shahab-ud-din

(C)  Nur-ud-din Muhammad

(D) Muhi-ud-din Muhammad
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16.

18.

19.

20.

17.

HIS. CUL. & ARCHAEOLOGY/80

‘

Who, amongst the following, was the firstto 18
make use of artillery in warfare during the
medieval period in India ?

(A) Babur

(B) lbrahim Lodi

(C) Shershah Suri

() Akbar

Wha built the mausoleum of Jahangir and ~ 17.

where ?
(A)

(B) Shah Jahan - Agra

(C) Nur Jahan - Fatehpur Sikri
(D) Shah Jahan - Delhi

Mur Jahan - Lahore

Who was the ‘Wazir-i-Khazana' (finance 18

minister) in the Court of Akbar ?

(A) Todarmal

(B) Faizi

(C) =hah Mansur
(D) Birbal

Who among the following granted the  19.

Zamindari of Districts of Burdwan, Midnapore
and Chittagong to the East India Company ?
(&) Siraj-ud-Daulah

(B) Mir Zafar

(C) Mir Qasim
(D) Nazm-ud-Daulah
Jyotiba Phule was associated with - 20

(A) Peasant Movement
(B) Anti Caste Movement
(C) Trade Union Movement

(D) Civil Disobedience Movement
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21, Varna System is mentioned in which
text 7
(A)  Rigveda
(E) Samveda
{C) Yajurveda
D) Atharvaveda
22, Who was the author of Harshacharita ?
(A) Kalidas
(B) Banbhatta
(C) Amarsingh
D) Harshavardhana
23.  Whowas the composer of Prayaga Prashasti
or Allahabad Pillar inscription 7
(A) Harisena
(B) Kalhan
(C)  Ravikirti
(D) Vasul
24, Who was the founder of Nanda dynasty ?
(A) Mahapadmananda
(B) Shisunaga
(C)  Dhanananda
(D) Nandivardhan
25, Which one of the following is not a Harappan
site ?
(4)  Chanhudaro
(B) Kot Diji
(C)  Sohgaura
(D) Desalpur
HIS. CUL. & ARCHAEOLOGY/80 ¢
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26. Which of the following is the oldest Smriti 7 26.
(A) Manu Smrii
(B)  Yajnvalkya Smiiti
(C)  Narad Smriti
(D) Brihaspati Smriti
27. Who among the following was not a  27.
contemporary of the other three 7
(A) Bimbsara
(B) Gautama Buddha
(C) Milinda
(D) Prasenijit
28, Which one of the following was initially the ~ 28.
most powerful city state of India in the 6th
century BC ?
(A) Gandhar
(B) Kamboj
(C) Kashi
() Magadha
29. Emperor Harsha's southward campaignwas 29
stopped on the Narmada river by :
(A) Pulakeshin |
(B) Pulakeshin ||
(C) Vikramaditya |
(D) Vikramaditya Il
30. Who founded the Rashirakuta Kingdom ? 30.
(&) Krishna
(B) Amoghavarsha |
(C)  Danfidurga
D) Dhruva
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31. Who is called the father of Indian
Archaeology 7
(A) Robert Seawell
(B) John Marshal
(C) Colonel Mackenzie
(D) Alexander Cunningham
32.  Which of the following history book deals
with the history of Kashmir ?
(&)  Jataka
(B) Rajtarangini
(C) Meghdoot
(D) Ratnavali
33. To which dynasty the Gandhara School of
Art is related ?
(A) kushanas
(B) Mauryan
(C) Greeks
(D) Guptas
34,  Which of the following eras / communities
represent Jorwe culture ?
(A) Vedic Era
(B) Chalcolithic Era
(C) Palaeclithic Era
(D) Later Vedic Era
35.  Inwhich year battle of Tarain first took place ?
(A) 1175AD
(B) 1180AD
(C) 1191 AD
(D) 1192 AD
HIS. CUL. & ARCHAEOLOGY /80
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36.
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38.

39.

40.

HIS. CUL. & ARCHAEOLOGY/80

Which ruler established the City of Agra ?
(A)  Sikander Lodi

(B) Muhammad-Bin-Tughlag

(C)  Alauddin Khilj

D) Balban

Which of the following adopted the titie of
Sikander-i-Azam?

(&) Jalauddin Khilj

(B)  Alauddin Khilji

(C) Mubarak Shah

D) Khusrau Shah

Widow Remarriage Act deals with :
{A) Bentinck

(B) Dalhousie

{C) Curzon

@) Cornwallis

Whao was the King of Britain during the First
World War 7

(A) Philip |

(B) Anarew VIII
(C) George V
(D) John VI

Who was the political guru of Gandhiji?

(A) Dadabhai Naorgji

(B)  Tilak
(C}  Gopal Krishna Gokhale
(C) Ranade
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MATHEMATICS & STATISTICS
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= |
| |
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Question Booklet No.

600016

Instructions for Candidates :
1.
2,

Each question will be of 1 mark. 1.
Use only blue/black ball point pen. 2.
Whitener is not allowed.

Write your roll number in the space 3.
provided on the top of this page.

This paper consists of 40 multiple
choice objective types of questions. 4.
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examination, the question bookletwill 5.
be given to you. In the first 5 minutes,

you are requested to open the booklet

and compulsory examine as below :

(a) To have access to the
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MATHS & STAT./60

The differential equation
dv R

— =30(y")"", x> 0, y(0)=0 has :
dx : -

(A)  Twosolutions

(B) A unique solution

(C)  Nosolution

(D) Infinite number of solutions

Let X and Y are two independent

random variables with

A
}vi«[‘:it‘u:‘rmi&][~ P:;] and Y~binomial

|
[CIEJ, p#q then which of the
Y .

following is true ?

(A)  X+Y ~binomial (p+q, 1)

1
(B) K+‘|’—~hilmmidl P4, 51

l
(C)  X+Y ~binomial (P + fLE]

(D) X+Y is not binomial variable

The partial differential equation

i
A F"u
y—+3—s
o’ E{v“

U is hyperbolic in :
(A)  The first and third quadrants
(B)  The first and second quadrants
(C)  Thesecond and third quadrants

(D) The second and fourth

quadrants

(3)

1.

ST T

y(0)=0 T@ar & :

dv 5 q7%
——=30(y")"7: x>0,
d .

(A) & &
(B) % siigd &
(C)  #E & T8

(D) oW HE H o
A @i X @R Y 3 e aghes

J‘rﬁ'ﬁ?’

1
2

ﬂ?%aﬂ'{i{iﬁtﬁ[ﬁ’

[qu peg @ Rrtiiem & &
HF-1 FEF HEl B 7

(A)  X+Y~Tfaw (ptq, 1)

1
(B) X+Y~faug [s?ﬂfaﬂ

4

I
(C) X+Y~Taum [p+ @:EJ

(D) X+Y e
TSR STaEE THIHT

5 o2y
y—— +x¥—= =0 siforaafis ¢

Bx® oy
(A) W9 o g =gl q
(B) W o4 fadig agufat |
(C) Tadm wd o aguisl &
(D) fadim o =gy =gl |
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The system of equations
x+y+z=1
2x4+3y—z=35
x+2y—cz=4

where ¢ €R has a unique solution for

all value of ¢ except ;

(A) c¢=2
(B) ¢=10
(C) c¢=3
(D) c¢=1

Let P(z) be a polynomial of degree 3

. P (z)
d fl2)=—— the i :
an P(2) then residue at

infinite is ;

(A) 3
(B) 0
(cy -3
(D) -1

Eigen value of the Fredholm integral

equation

I pra .
y(x)= ;J-u xsmx y(s)ds i -

I
(A) .
(B) 5
) =
(D) 1
MATHS & STAT./60 (4)

O

el ¢ <R, ¢ T4 9 F TF Alaad
%ﬁ%, & T

(A) c=2
(B) ¢=0

(C}y ¢=3

(DY c¢c=1

I #ITT P(z) @ 3 91 # G §
A ()= 5 e 7
2

(A) 3

(B) 0

€ -3

(D) -1
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3

<y .
The initial value problem : : +y=0.
dx=
x=0, p(0)=1,"(0) =1 is equivalent
to this Volterra integral equation :
(A)  y) =1+ [ (x=5)p(s)ds
X

(B)  w(x) =1+ L X8 y(s)ds
(C) yilx)=1+ I(: (s+ x)p(s)ds
D) p(x)=1+4 H{.&' — x)y(s)ds
Consider the following statements :
P:  Every metrizable topological

space is scparable.
Q: Every HausdorfTtopology on a

finite set is metrizable.
(A) BothPand(Q are false
(B) Pis true but Q is false
(C)  Pis false but Q 1s true
(D) BothPandQ are true
The number of 5-Sylow subgroup of
the symmetric group S; 1s :
(A) 3
(B) 24
(Cy o
(D) 7

MATHS & STAT./60

(3)

9.

X d*y
I A JHE ——5 v =0 x>0,

dx

y0)=1. y'(0)=1 3 T FHHT
T Je -

(A)  ryix)=1+ J-n: (x—s)y(s)ds
(B) wix)=1+ L: X85 v(s)ds

\
(C) wyx)=1+ _[” (s+x)v(s)ds

(D)  wvix)=1 +j{:{s—,ﬂ_1'{.s‘}a’.&'

P: o weEe HigREe SR

T HIE el gl
Q: U IR Y T EREE D
el wifgendEe ekl 2

(A) & PR QT g
(B) Pudt g Quad
(C) P 2 g Qudl B
(D) M PR Qudl B

fafmfes @9 S, & S-Rl SUHTE @
Her T

(A) 5
(B) 24
) 6
D) 7
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10.  Which of the following sequence
converges uniformly 7
[ H,"L'E ) _
(A) | ] | in [0, 1]
(B) {”‘ﬁ”(] = 1}} in[0, 1]
(C) “! _}IHIU.I]
D) |} info,1]
sinz
1. For the function f(z)=e = ,which
of the following statements are true ?
P:z=0isapole
Q:z=kn,k=7.k=0 isessential
singularity
R :z =0 is a removable singularity
(A) PandRaretrue
(B) QandRaretrue
(C)  OnlyPis true
(D) PandQ are true
12, Let f:C— D be analytic function
such that
; 1+i f 1
N=—and P=qzel:zle=
S ) > and 1 | 2}
then f(—i) is:
" —l—i 1—i
@ — ®
14d L+i
€ = D) -
MATHS & STAT./60
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10,

1.

12.

fFrfead & & $F-H P A
= § AR Fr & 7

nx? ‘ .
(A) — 1J',ill}. 1] H

(B) -[n.r”(l = .ﬂ} 0,11 ®

* l

l-r.lu

I

(€) ‘{ 001 H

D) {x"},[0,1] 3

TRE f(z)=e *

g E?

P:z=0 TF T &

Q:z=krn. k=E,
Rt &

R:z=ﬂ@ﬁ'@aﬁm‘\]ﬁﬁa%

(A) PeRRTEE

(B) Qalx Rué ¥

(C) o PHdl B

(D) PARQHI?

qF @R 0> D T AR

T & ol

% o/ -5

k=0 TRFETE

1
f{r)—IJ” ={:er::|;|-_-:;}
@ f(-i) &

—1-i 1 =i
(A) 5 (B) 5
o =t py
(C) 5 (D) 4




13.  Probability of getting at least 4 heads
in 6 tosses of a fair coin is
I
(A) 5
11
(B) 32
C) I
( 11
__i._
) 32
4. Thesubspace O [0,1] of [Rz with usual
topology is :
(A) Dense
(B)  Compact
(C) Separable
(D) Connected
15, The Fourier transformof f(¢) = ¢~
IS
.
B e+ p?
-8
B) 16+ 2
4
© 16+ p°
8
(D) 16+ p?
MATHS & STAT./60

€73

13.

14,

15.

U e 9 & 6 98I § FA-a-30

4 9 3= i ifEear #
1
(A) ‘;
1
(B) 1
o L
(<) T
D) 2 ]
( 32
9.00.1] & R® (@ Adenh 3
) I E
(A)  TEa
(B) @i
(C) g
(D) i
fy=e @ giET grawH
-
4
(a) - 16+ p?'
-8
(B) 16+ pz
4
© 16+ F’z
8
(D) 16+ p2
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16. Let u(x,y) be the solution of the
Cauchy problem xit, +u, =1
u(x,0)=2log _x,x>1 thenu(e, 1)is:
(A -1
(B)y |1
(C) e
(D) -e

17.  The field T of complex numbers is
isomorphic to :

Jix]
i <x?+x+1>
IR [x]
B} &
i RET
(€) <yt Hx+l>
QL]
D ——
(D) <2 +1>

18.  Order of multiplicative group of units
ofthering Z ) Z is:
(A) bl
(B) 6
(C)

(D)

19. For elements X {:fl?xz] 1
3l {.J"]r,“j} in IRE if
{I,JF} = C"L"f1 .1?; —_1']_]»'2 —_1,'2:_1)! +_'||'2J.12
defines an inner product on R 2 then :
(A O<e<l]

(B) <l

(€)  ~l<e<o0

(D) e>1
MATHS & STAT./60

(8)

16.

17.

18.

19.

O e(x, ) e g xu, +u =1
u(x,0) = Hlng;_ X, x> #|ed g ar

e, 1) -
(A) -1
By -1
(C) e
(Dy -e
Ay g # 8= C.......° STEamiths
2l
QL)

(A) <x?+x+1>
® 355

Q.‘[i]_
D) <x2 41>
fr () 2,0, % o & g
A)
(By 6
(C) 3
(D) &

ml iffG%EFJIE‘IT r= {-"':| :-"-'gj SPE (,V]LVI}:
% forg i

(1) =exy = xp, — oWy + X0, TR
R? 9% &7 e 1 Rwifie o & o
(A)  O<e<]

(B) c<l

©  -1<e<0

D) e>1

D, s 0




20, The function (x) :‘.afist‘ying the
integralcquatinnj P r,.ff{.:,}rfn., =i
15 :
(A)  1+x
(B) 1-=x
{-C\} e .1-2 .I|l 2
D) x+x%/2
21, Letp beaprime number. The order of
a p = Sylow subgroup of the group
GLso(F,) of invertible 50x%50
matrices with entries from a finite field
F o equals :
Ay p*
(B) p!'*
{C} plzsl.l
(D) pl2?s
22 [.et E|F be a finite extension. Then E[F
is a Galois extension if and only if it
18 :
(A) Normal
(B)  Separable
(C) Infinite
(D)  BothNormal and Separable
23 Let us consider
1 £ + 4 -
E(t)= +HE+"""' Sy
then :
(A)  E(t+5=E(N+E(s)
(B) E(t+s5)=E()- E(s)
(C) E(t+s)=E(ts)
(D) E(t+s)=t+s
MATHS & STAT./60
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20,

21.

22,

23,

A AT [ Ay (E)dE = x
B HIT FA q BT g (x) ©

(A 1+x
(B) |—x
(C)  x—x2/2

D) x+x2/2

% pUF AU d@ B Uk p-wEal

ITEE, S I S0x50 egE e

wiafted w fiiEd & £, F
GLg,(F,), ST B :

(A) PS{P

{B} plzﬁ

{C} plli{l

(D) p'22s
7% EJF s 9ifEg e @1 @& EF
uF fraeg fwaw §oal o #aw
o 7 ®

(A)
(B) fagrsg
(Cy  orHima
(D) EWf amF A g
i g9 " ©
{2 (
Ey=1+t¢ +E+ +;+ —

GE]

(A)  E(t+s)=E(N+ E(s)
(B)  E(t+s)=E(t) E(s)
(C) E(t+s)=E(ts)

(D) E(+s)=t+s
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24 The function [(z)

the form f(z) = u(r.0) + iv(r.0) is :

: |
(A) _f{z]'—-[r—— Jcosﬂ+

F

(B) .f'{:)={r'—£}c05rﬁ+
f[r—-iJSin{?
r
; (1)
(C) _,r"(_-_:}-_—| rH :Jms:‘? -

(D)  Jf(z)= (f‘+lJc05{?+
-

:'[ rF4 -!—Jsinﬁ
5

l-cosz

25 Forthe function f(z)= ——5 —the 5

point z=( is :

(A) A pole of order 2

(B) A pole of order 3

(C)  Anessential singularity
(D) Aremovable singularity

26. Residue  of  the

z—s8inz

f(z2)== - atz=0is:
(A) -1 (B) 0
€ 1 (D) 2
MATHS & STAT./60 (10)

|
_-:J-T{:wﬁ(}} n - 24

function gg

. |
AT f(2)=z+—(z20) FH1 B/Y

J(2) = w(r,0) +iv(r,0) F % -
!

(A) Jlz) lll r - l)cﬂst‘? +

I" Irl /]

{ ]‘
;'L r -—J\m&?
7

(B) f(z }—|r -I}cméh

:‘[' r—l]sinf)
LS F

.f

(Cy  f(2) _|H—|LL‘M?+
)
I
——}bmf}‘
% i
(D) —(f+ |L0blf?|-
'( )
Hor+—(sind
r
e f‘(z}ﬁ— 5 % o g 2 =
0%:

(A) 9 & 97 2
(B) 91 & 919 3

(C)  A999% e

(D)  ®eW A7 feeom

B S (2) = E_fmf F FN 2= ()
e H

(A)  ~I (B) 0
(€)1 (D) 2



27. A real roots of the equations

x=02+2+08
¥ =[Hu 2 0.7

_'I M
”ZI{ } [ 2.‘]‘-! 1

(By flz }——m"
”ZI{ }”(QJHI

(=1
© [f@=-+

e 3
Z_: [2!?+1

@ JS)=-=+
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e ——._

(A) x,=085, =074
(B) x,=0.83, j,=0.89
(C)  x,=0.75, y, =098
(D) x,=0.54, =037

22 —|
function J (2 }—m
region |z |<2 18

|
(A) Jf(2)= et

+ ——8 ] z
3:.l-|-]

8 Y
31.'+] o

8 M
3n+] =

27.

28, The Taylor's series which represent the ~ 28.

in the

(11)

HHRC

x=02x"+0.8
y=03x°+0.7
(A)  x =085 v =074
(B) x,=0.83, » =0.89
(©)  x=075, »,=098
(D) x=0.54, y,=0.37

%ﬂmﬁ%ﬂﬁ'%

2]
waa Sf(z2) m g1

|z|<2 ® R 4@ g g, ¥

I
(A) flz)= —m"‘

> (- 1)"[,},:” : J

S
=l 3

I
B J@=E—=

10

n 3 8 M

”ZI{ ) [ .j,”+] ?iH-l }._.
f(z)=—+
© Jer=—

“ ” 3 R i
Z{‘_” (2”+] _3i]+|]z

n=I

© fD=-¢+

& 3 8 n
Zi{_ ]')”(.-J,n-'r] i 3n+1 12
n= -
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99,  The set of basic optimal solution ta an
PP s
(A) Finite
(B)y Convex
(C)  Either singleton or infinite
(D)  Countable infinite

30.  Suppose a group contains elements a
and b such that |a|=4, |h|=2 and
a’b = ba . then the value of lab| 1s:
(A) 4
(B) 6
(C) 8
(D) 2

31, The generators of the group
G={a,a’,a’,a*,a°,a® = ¢} are:
(A) aandd®
(B) «*andd®
(C) & and &’
(D) 4*andd®

32, LetT is a linear transformation from
vector space V to W, Let dimV =m
and dim W =n, then Rank of T is -
(A) m
(BY =n
(C) m+n
(D) m-n

MATHS & STAT./60

29.

30.

31.

32.

(12)

T Lpp & fore il deeam aemmEt
EES:

(A) i

(B) Imd

(C) T a1
(D) TOHE

AT OF T % o9d o X b Al B
la|l=4, |blE2 AT a’b=ba, T
|ab| & A

(A) 4
(By o
(C) 8
(D) 2

e G‘;{({,ﬂz?ﬂaﬂq,ﬂs,ﬂﬁ =g} Wl
CIRERA

(A) a AT’
(B) da? &t o
)y & e

(D) {'!1 '3?[{11!’3

A T 0 W@ i, aRy e\ v |
W B M dimV =m 3T dim W=n,
a9 T3 Fife &

(A)  m
(B) =n

(C) m+n
(D) m-n




33.

38,

36.

MATHS & STAT./60

e S e B ——"

Ifx ~ Binfnp). then pi(x<2) = p(x > 33

n-2) if and .unl:-,f if:

(A) p= ;
|

(B) p=3
‘ 1
© p=3
D) p=1

Iftwo lines of regressionarex + 4y =3 34,

and 3x + v =[5, then the value of x

for y=31is:

(A) 4 (By 9
(C) -4 (M 0
The correlation coefficient is : 35.

(A)  bxy.byx
(B)  byx bay
(C)  bxy/byx
(D) bvx/bxy

A random variable x has the probability ~ 36.

density function
I i i
) —e /¢ x>0
f(x,8)=18
1 () . otherwise

then minimum variance bound

estimator of @ is:

(A) ¥
By Zx
€) Taxf

] )
(D) ;(Zx! -x)
([ 137)

& x~ Binfnp), T p(x<2) = pix =
H—.-?J@"IT,H’I%@I’{%@"HQ&J

|

&), p=5
. 1
(B) p= 2
|

(C) "p= 5
(B) p=1

I ySTEE @A W x o+ 4y = 3
Arx+y=158% 78 y=3F /A «
FH OAE B

(A) 4 (B) 9
(C) -4 (D) 0
qEaE U ©

(A) \,"Ib.l:u. byx

(B) byx bxy

(C)  bxwhbyx

(D) byxsbxy

UF AREH I B TEFEA TG Fe
e

| —=&
f(x0)=16"

0 . otherwise

T 9 AT [T A ST
g

g & .x=b

(A) X
[B] Z Iz'
(€) Zx?

(D) i@%'ff

[P.T.O]




37. A pattern that is repeated throughouta 37
time series and has a recurrance period
of atmost one vear is called :
(A)  Cyclic variation
(B) Irregular variation
(C)  Seasonal variation
(D)  Long term variation
38.  The degree of freedom for error in  38.
Latin square design is :
(A)  (m-1)(m-3)
(B) (m-1)(m-2)
(C)  m{m-1)
(D) (m-2)(m-3)
39.  Consumer's price index numbers are 39,
calculated by :
{A) Fisher's Formula
(B)  Paasche's Formula
(C)  Palgrave's Formula
(D) Laspeyres' Formula
40. Stratified sampling is used when  40.
population is :
(A}  Homogeneous
(B)  Heterogeneous
(C)  Verylarge
(D)  Too small
MATHS & 5TAT./60

—_—

140

o ey St g TQHT_EF e
S & SR A o qd % gl
2t 2, Feamm 2 ¢

(A) ==hE R

(B) A e

(C) A B

(D)  dHefes e

aifest &7 w=en # Ffe & o wacisan i
Hife B :

(A)  (m-1)}{m-3)

(B)  (m-1){(m-2)

(C)  m(m-1)

(D) (m-2)(m-3)

SUHAIR % Jed G A Bl T
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(B) W& @A

(C) TeEE & g 4

(D) WU % g "

ESEET I R I8 ) G A e s
Bier &

(A)  HIE

(B) fewmim

(€) =T &
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10.

11.

12.

13.

replaced immediately by a
correct booklet from the
invigilator within the period of
5 minutes. Afterwards, neither
the guestion booklet will be
replaced nor any extra time be
given.

(c)  After this verification is over,
the question booklet number
should be entered in the OMR
answer sheet.

Each item has four alternative

responses marked (A}, (B), (C) and

(D). You should darken correct answer

in corresponding circle.

Your response to the item is to be

indicated inthe OMR answer sheet only.

Answers marked in question booklet

will not be evaluated. Rough work is

to be done at the end of this booklet.

You have to return the question booklet

and ocriginal copy of OMR Answer

sheet to the invigilator and get the
student's copy of OMR Sheet at the
end of examination compulsorily.

Use of any calculator, mobile, log table
or any electronic gadgets etc. is
prohibited.

In case of any mismatch of questions,
the English version will deemed to be
correct, if the question booklet is
bilingual.

For each question, darken only one
circle on the Answer Sheet. If you
darken more than one circle ordarken
a circle partially, the answer will be
treated as incorrect.

Note that the answer once filled in ink
cannot be changed. If you do not wish
to attempt a question, leave all the
circles in the corresponding row blank.
Such guestion will be awarded zero
mark.

10.

11.

12.

13.
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ADULT CONTINUINGAND EXTENSION EDUCATION

Roll Number
ERIGICES 60 e
Time Allowed 60 Minutes
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ax. Marks l

- |

Question Booklet No.

100089

Instructions for Candidates :

1.
2.

3.

Each question will be of 1 mark.

Use only blue/black ball point pen.
Whitener is not allowed.

Write your roll number in the space
provided on the top of this page.
This paper consists of 40 multiple
choice objective types of questions.
At  the commencement of
examination, the question booklet will
be given to you. In the first 5 minutes,
you are requested to open the booklet
and compulsory examine as below :

(a) To have access to the
Question Booklet, tear off the
paper seal on the edge of this
cover page. Do not accept an
open booklet.

(b)  Tally the number of pages and
number of questions in the
booklet. Faulty booklets
due to pages/questions
missing or duplicate or

not in serial order or any
other discrepancy should be

(Remaining instructions on last page)
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1, Who gave the shape analysis model of = 1. T G0 & e Ayager digd

urban structure? fepae Rar ?
(A} Colin Clarke () e =
(B} Harris and Uthman B) 9w oo
(C)  Homer Haier C) BMY BEY
(D) Murfiand Vans ‘ (D) W9l ug g
2. “India is par excellence a country of villages” 2, g s e 1 | e e i |
who said 7 JETELT WRIH Bl 81 FhER e ?
(A) Brunhes (&) Bl
(B)  Blache B) e
(C)  Finchand Trewartha : € fra @ A
()  Huntington O) e
3. Which one of the following mountain peaks 3.  Fr=ifaran o & e &t & @ gdd
of Himalayas is not in India? a1t s H T8 T 7
(A) Annapurma (A) ‘?'I"_"‘Tﬁ
(B)  Nanda Devi (B)  +ar &4t
(C)  Mount Kamet (C)  WI3vE FEE
(D)  Kanchenjunga () e

[PT.O.]
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Lakshadweep Islands aré the product of : 4.
{A) Volcanic Activity
(B) Wave Action
(C)  Sea -floor expansion
()] Reef formation
In which year the book titled "Limits of 5.
Growth” was published by Meadows and
Meadows ?
Ay 1970
(B) 1972
(C) 1975
D) 1978
In which year Petroleum was nationalized g
in Arab countries, after which the situation of
energy crisis is the world arose ?
(A) 1970
(B) 1973
(C) 1976
(D) 1986
AD.CONT. & EX. EDU./80 (4)

“Toftew offw T A gE e
g [WeRT gy e as el g ¢

(A) 1970

B) 1972

€ 1975

D) 1978

I a9 A Ueiferd & TSt e

o o s 9m e § ot
e &l Rl S & o ?

A) 1970

(B) 1973
© 1976
O) 1986




AD.CONT. & EX. EDU./80

World famous oil refinery Abadan is situated
in which country?
(A) Iran
(B) Irag
{le  Venezuela
{0) Indonesia
VWho first started the work ol compiling 8,
research works under education and
publishing them systematically?
(A) Rice
(B) M. B. Buch
(C) Pasi
(0) B.D. Bhatia
The propounder of Brain Storming method g
is
{A) Alex Osborn
(B) Armstrong
(C) Morrison
(D) Parkhurst
(5)

7.

AT ufte emEE o sEsTer $E
feerg & 7

(A &

B

(€)  aogge
(O)  goEmfmEr

GaugH FOW (95 & S siy i
F HFeH FF I Hafed 'Y g
TS H F HE e fr ¢

(A TRH

B . g9
€ g -
O)  drE. e

Hiter Seae (e B & ufes
B

(A) T e
(B) S

€  HiEs

0 uEEE

[PT.0.]




10.

1.

12.

AD.CONT. & EX. EDU./80

Which of the following research types is the 10.

most useful type for the government in

Planning policies?

(A) Correlational studies
(B) Descfi_p_tive studies
(C) Experimental studies

(D)  Historical studies

In the long run which leadership style is most 1.

effective?

(A) Autocratic
(B) Participative
(C) Transactional

(D) Transformational

Which of the following is not an element of ~ 12.

Inclusive education ?
(A) Regard for diversity
(B) Zero rejection
(C) Collaboration

(B Special class placement

(6)

frfefag & & SF-ar i g e

il § w & o geg ot &7
(A)  dedEdl reEd

(B) AU STEIEN

(C)  TERTHS A

(0) Ui s

dHwa d BE- W99 I wEiEe
BEIGEICIE T

() T
B)  HeEwEh
€ @
0)  uREd

Frefefas & & 9 guRsh Ber &
o Tl 8 ?

(/) [l & o ddy

(B) I g
(C)  HEgm
0 fadw & e




13.

14,

15,

In educational research, case study method 3.

gives importance to which of the following ?
(A) Prediction

(B) Casual connections

(C) Generalizations

(D) Unique characteristics

The propounder of Information Group theory 14

(A) Carl Fogers

(B) Asubel
(€) Brunner
(D) Piaget

What is not related to Dr. B.R. Ambedkar 7 15.

(A) Who were the Shudras
(B) States and Minorities
(C) Annihilation of Caste

(D) The Scheduled Tribes of India

AD.CONT. & EX. EDU./80 S

e agEeE § dw wd gl
Frfefe & & Rl e 30 3 7

(A)  fesE@i

(B)  oTHREEH HeY

(C) A

0) e g

qa @y o & afaues ¥
(A) el o

(B) g

@ g

o e

2. 9.9, SrEsHT § I TeErud
T 7 ?

(A) B aT T @

(B) WTH TG HEARE

(C)  wAleHIH &fF #e

0 T TS TR G T

[PT.0.)




16.  Parsons believes that there are four 16.
functional imperatives that are necessary for
all systems - adaptation, goal aitainment,
integration and
(A) acculation
(B) accomodation
(C) latency
(0) moral
17 Among the Garo tribe, the homehold is 47,
knownasthe
(A)  NOK
(B) Ling
(C) MNokrom
{8)] Mathama
18. Wha wrote the book ‘The Social Structure 18
of Values' ?
(A) D.P. Mukerji
(B) R.K. Mukerjee
(C)  BrijRaj Chauhan
(D) S.C. Dube
Aﬁ,CDNT.&EX.EDU.FB{] (8}

TE o FEe & o0 = I
FEEaET 1 fAeam sl 5 E -
T, T M, Tt 31K |

#)  TEEET
B)  wHI

(€  WEEN
(D) AT

()

B R

€) A

0) weH

T A T A6 g G e
fordlt 7

() E e

(B) ST, yEsi

€ I U9 A

(o) v <
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20.

21.

22,

AD.CONT. & EX. EDU./80

Which one of the following is an incorrect 19

match ?

(A) Removal of Untouchability Act, 1855
(B) Hindu Succession Act, 1956

{C) Special Marriage Act, 1954

(D) Anti Dowry Act, 1950

Who is the founder of Symbolic 20.

Interactionism ?

(A) Karl Marx

(B)  Herbert Blumer
(C) Luckmann

(D) Sudnow

Which of the sociclogist studied Shamirpet 21,

village 7

(A)  S.C. Dube
(B)  M.N. Srinivas
(C) Merrit

(D) Desai

Who gave the theory of 'Cultural Revolution' 22,

and 'Permanent Revolution' ?

(A)  Hitler
B)  Mao
€  Mussolini
(0  Lenin

(9)

ffefgd & #F-m o gafem w8
27

(A)  oTEgYEEr e s, 1955

B) B IwwiEER wftEm, 1956

€ fadiy faere arfafem, 1954

O) . %&s MArs afafgs, 1950
= fohamaE & weres

Pt

(A P AR

(B) & g

€ g

O g

et TmreIE 3 9iffde T @ et
R 7

(A)  TEHEL g

(B) O HifEm

(C) HRe

0 @R

(A) e
(B) @B
©  HEiRE
o) e
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23 Which is not correct regarding Morgenthau's 23,
Realist theory ?
(A)  Convergence of laws of national
and international behaviour
(B) Abstract moral principles cannot be
applied to politics
(C) Autonomy of International politics
-I:':l j_.'-r:-;;'un.'-l-: :j|v\Pll.:|.l is iased in LiE
objective laws of human nature
24, Which is not a function of the IMF 7 24,
(A) Reduce poverty around the world
(B) Sustainable economic growth
(C) Foster global monetary cooperation
(D) Allotment of loan to private sector
25. Which of the following human rights o5
conventions is not correctly matched with
the year of its enactment ?
(A) Convention against Torture - 1984
(B) International Covenant on Civil and
Political Rights - 1970
(C) Convention on the Rights of the
Child - 1989
(@) Universal Declaration of Human
Rights - 1948
AD. CONT. & EX. EDU./80 { 10)

HieE & gureardt fasld & ey H
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26.

27,

28.

29.

AD. CONT. & EX. EDU./80

Which of the following is not a variant of

28.
Marxism 7
(&) Leninism
(B)  Stalinism
(C)  Fabianism
(@)  Maoism
By what name were Gramsci's writings  27.
published after his death ?
(A)  Prison Notebooks
(B)  Prison Diary
(C) Prison Memoirs
(D)  Prison Story
" \Which of the following is a leading scholar 28
of Multiculturalism 3
(A) Jayesh Swaminathan
(B) Dipesh Chakrabarty
(C) Bhikhu Parekh
D) Theodor Adorno
A capitalistic economy is also known as ° 29.
(A) Free Economy
(B)  Market Economy
(C) Laissez Faire
(D) Al of the above
(11)

Pt # & a1 e @ o
S 7 B 7

() i
(B)  wiferaE
)  Gfemare
. (D) HeIER
sl e B IR 9 B 9
T e B o e 7
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B) B sEd
€ oo A
o  feE el

e e € 7

() oA @

8) T =R
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30.

3.

32.

33.

AD.CONT. & EX. EDU./80

Which one is not a feature of Indifference 30,

curve?

(A) Falling from left to right

(B) Convex to the origin of axes
(C) Horizontal curve

(D) Never jntersect each other

Base of Consumer's surplus is : 31

Al Law of Equi- marginal utility
(B) Law of Diminishing utility
(C) Revealed Prefrenence theory

(D) Indifference curve analysis

Who is credited with bringing the term “ The 32,

Invisible Hand" in Economics ?
(A) Adam Smith

(B) J.M. keynes

(C) F. Hayek

(D) Samuelson

Which one is correct about induced 33

investment?

(A) Income-elastic

(B) Income-inelastic

(C) Inverse relationship to income

(D) Influenced by long-term possibilities

(12}

eI 9% &I S-ar e T8 & ?

A " e A= A e e

D)  OF gt B ol Fe
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36.

36,

3.

AD. CONT. & EX. EDU./80

Who propounded Psychological Law of  34.
Consumption?
(A) Adam Smith
(B) Ricardo
(C) Keynes
(D) Pigou
In Vedic period, which animal was known  35.
as 'Aghanya’ ?
(A) Bull
(B) Sheep
(C) Cow
(D)  Elephant
The great commentator of the Buddhist  36.
canonical literature was :
(A) Ashvaghosh
(B)  Buddhaghosha
(C) Vasumitra
(D)  Nagarjuna
At which place the Tomb of Akbar is 37,
situated ?
(A) Sikandara
(B)  Ajmer
(C) Delhi
(D) Allahabad
(137

T TG FEE e R
o 7

W e R

B) Rt
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@) 9
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e
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38. ‘Chachanama’ text describes the history of  38.
which region 7
(A) Kashmir
()  Sindh
(C) Punjab
D) . Gujarat
38, Who among the following established Delhi 39,
as the capital of Sultanate ?
(A)  Quiubuddin Aibak
{B) litutmish
(C) Razia Sultana
(D)  Sher Shah
40.  The beginning of the domestication of  40.
animals, as excavated evidence reveals,
goes back fo :
(A) Lower palaeolithic period
(B) Middle palaeolithic period
(C) Upper palaeolithic period
(D) Mesolithic period
AD.CONT. & EX. EDU./80 (14)
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10.

11.

12.

13.

replaced immediately by a
correct booklet from the

invigilator within the period of
5 minutes. Afterwards, neither
the question booklet will be
replaced nor any extra time be
given.

(c) After this verification is over,
the question booklet number
should be entered in the OMR
answer sheet.

Each item has four alternative

responses marked (A), (B), (C) and

(D). You should darken correct answer

in corresponding circle.

Your response to the item is to be

indicated in the OMR answer sheetonly.

Answers marked in question booklet

will not be evaluated. Rough work is

to be done at the end of this booklet.

You have to retum the question booklet

and original copy of OMR Answer

‘sheet to the invigilator and get the

student’s copy of OMR Sheet at the
end of examination compulsorily.

Use of any calculator, mobile, log table
or any electronic gadgets etc. is
prohibited.

In case of any mismatch of questions,
the English version will deemed to be
correct, if the gquestion booklet is
bilingual.

For each question, darken only one
circle on the Answer Sheet. If you
darken more than one circle or darken
a circle partially, the answer will be
treated as incorrect.

Note that the answer once filled in ink
cannot be changed. If you do not wish
to attempt a question, leave all the
circles in the corresponding row blank.
Such question will be awarded zero
mark.
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Lib.Sc./140

ASLIB was renamed "Association for
Information Management” in the year .

(A) 1980
(B) 1983
(C) 1985
(O] 1987

Shanti Swaroop Bhatnagar Prize (SSB)
for Science and Technology is given
by .

(A)  UGC
(B) CSR
(C)  MHRD
(D)  DST

Parry Committee in U.K. was appointed
for:

(&) College Libraries
(B) University Libraries
(C) Public Libraries
(D) School Libraries

............... is the National Centre for INIS

activities in India.

()  CSIR
(B) ICAR
(€] BARC

(D)  Saha Institute of Nuclear Physics

4_
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Lib.Sc./140

When "Delivery of Books Act' was revised

in India ?

(A) 1950
(B) 1952
(C) 1956
D) 1960

How many copies of a newly published book
should be sent to National Library of India

under revised Books Act ?

A 2
| 3
€ 4
0) 5

Which of the following is not a Library

Extension Service activity ?
(A) Book Exhibition

(B)  Film Show

(C) Inter Library Loan
D) Lectures and Talks

The first law of library science has which
implication on ---=-semmmmmeeeae of a library
building.

(A) design
(B) location
(C) modernization

(D) maintenance

(4)
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(D) 1950
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g9, A list of documents arranged in a systematic 9.
order is called :
{A) Abstract
(B) Index
(C) Bibliography
(D) Monograph
10. Which of the following quarterly Jaurnal is 10
published by IFLA?
(A) Library Waorld
(B) Library Economy
(C) Library Trend
()} International Cataleguing
1. Which of the following is not a tool for 11,
collection of facts in Historical methods ?
(A) Diary
(B) MNews paper
(C) Cain
() Observation
12. British Museum Act was passed inthe year: 12,
(A) 1759
(B) 1969
{C) 1979
(0) 1989
Lib.8c./140 {3)
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13.  Who sponsored NATIS ? 13
(&) UNESCO
8] FD
(C) IFLA
D) ©  NISCAR

14, UAP is a programme of : 14,
(A) FID
(B) UNESCO
(C) ALA
(D) IFLA

15. Canon of Recall Value is Canon of ; 15.
(A) Indexing

(B) Classification
(C) Cataloguing

(D) Abstracting

16. Which of the following version is not 186

available in DDC ?

(&) Online version

(B} Web version

(C) Consolidated version
() Printed version

Lib.Sc./140 (6)
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18. In the context of CDS/ISIS, the full form of  18.
FDTis:
(A) Field Development Table
(B) Field Destruction Table
(C) Field Declaration Table
(0) Field Definition Table
19. Who said, “some books are to be tasted, 19.
others are to be swallowed and some to be
chewed and digested"” ?
(A) S.R. Ranganathan
(B) Francis Bacon
(C) Melvil Dewey
(D) John Milton
20. Which of the following catalogue code has 20,
separate provision for early printed
monographs ?
(A) AACR-2
(B)  Cutter's Rules for Dictionary
Catalogue
(C)  ALA Catalogue Code
(D)  None of these
Lib.Sc./140 (7)

Demand theory of Book Selection is coined 17,

by :

(A) S.R. Ranganathan
(B)  LR. McColvin
(C) Melvil Dewey

D)  CA. Cutter

e mfomiee e o 7
(&) TH. M. TR
(B)  UW. . Rfead
(C) e b
0 . T Fget

& & v/ o ond ve & ded
U6.S1E. F T A w7

) T Sguwe e
B) Hits EEmE 2faw
C) wirs fEgeem 2fw
() B A e T A

‘g5 g ey & R o E ge
o =@ T w=E @ gear 2
e e B 7

(&) T, . TERA

B)  wiEE A
(C)  Haga 6
o) 9 e

R ® § -4 SewiW Hie H oy
e HFUE F o d JEEE & 7

(&) U H A2
(B) et Ted BiR B derw
() UW ud ¢ e B

0) ZH | L T

[PT.0.]

e




21,

22.

23,

24.

Source, Message, Transmitter and Recaiver 21,

are the components of communication
model developed by :

(&) Shannon - Weaver
(B) Sehramm
(C) Lasswell

(D) George Gerbner

Who said that knowledge is of two kinds.  22.

We know a subject ourselves or we know
where we can find information about it?

{A) S.R. Ranganathan
(B) W.C, Berwick Sayers

(C) Samuel Johnson

(D) H.E. Bliss

Census Atlas National Volume is an example 23
of__ Allas

(A) Local

(B) Historical
{€) Demographic

D) Anthropological

COMPEMNDEX is the online database on the 24

subject :

(A)  Physics

(B) Commerce and Export
(C) Analytical Chemistry

(0) Engineering

Lib.Sc./140 (8)
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23, The subject “Research Methodology” has 25
been formed by which of the following
. modes?
(A) Fusion
(B) Distillation
(C) Fission
(D) Loose Assemblage
26. An indispensable function of Thesaurus is : 26
(A) Knowledge representation
(B) Problem solving
(C) Representation of relationship
between concepts
) Knowledge engineering
27. “Book Number" helps in : o
(A) individualising the book within the
same class number
(B) Individualising the book among the
books with same authors
(C)  Individualising among the books
with same year of publication
(D) Knowing the subject of the book
Lib.Sc./140 (9)
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28, Which among the following is a digital library 28,
software used in the creation of an in house
digital library?
(A) LIBSYS
(B) Greenstone
(C) Alice for Windows
(D) Micro CDS / 1SIS
29. Formulation of Research Hypothesis implies : 28
(A) Creating a legal basis for research
(B) Enunciation of Postulates
(C) Enumeration of Canons
D) Formation of tentative
generalization
30. Assertion (A) : Copyright Act safeguards the 3,
interest of the author.
Reason (R) : This Act is essential to
maximise the circulation of documents.
(A) Both (A) and (R) are true and (R) is
the correct explanation
(B) Both (A) and (R) are true but (R) is
not the correct explanation
(C) (&) is true but (R) is false
() (A) is false but (R) is true
Lib.Sc./140 ( 10 )
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31.

32,

33.

Lib.Sc./140

Identify the correct chronological order in- 31.

which they were setup:
(A) NASSDOC, RRRLF, DRTC, INSDOC
(B) RRRLF, INSDOC, NASSDOC, DRTC

(C) INSDOC, DRTC, NASSDOC,
RRRELF

(D) DRTC, INSDOC, NASSDOC, RRRLF

If two citations are cited together, itis known 32,

as ;

(A) Double citation
(B) Twin citation
(C) Co-citation

(D) Controlled citation

Pre-coordinate indexing system is followed 33

in:

(i) Chain Indexing

iy  POPSI
(i)  UNITERM
(v)  PRECIS

(4) (i) and (v) are correct
(B) (i), (ii) and (il are correct
(C) (i), (i) and (iv) are correct
(0) (i) and (iv) are correct

(11)

BTaH 9% e [ T e

(A)  NASSDOGC, RRRLF, DRTC, INSDOC
(B)  RRRLF INSDOC, NASSDOC, DRTC

(C) INSDOC, DRTC, NASSDOC,
RRRLF

(D)  DRTC, INSDOC, NASSDOC, RRRLF
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34, Primary sources include: 4,

(i) Thesis
(ij  Patent
(iif) Abstracting periodical
(iv) Periodical article
(A) (i), (i} and (iii) are correct
(B) (i), (iii) and (iv) are correct
(C) (i), (i) and (iv) are correct
(D) (ii}, (iii} and (iv) are correct

35. Herzberg's two factor theory deals with: 35.
(A) Staff recruitment
(B) Leadership
(C) Decision making
(D) Motivation

36.  The author who defined Reference Service  36.
as the "Process of establishing contact
between a reader and his documents in a
personal way" is.
(A) Katz
(B) L. Shores
(C) M. Hutchins
(D) S. R, Ranganathan

Lib.Sc./140 (12)

() i

i W

(i) A A
(v) S oE

A ) i) S (i) T E
B) (i), (i) 3T (v) wEr E
© () i) ST (v) B
Oy (i), (iii) ST (iv) TR B

o & a1 e sl e de 27
(A)  wTE S

®

)  oE o

0) W

D A & a9 T w7 #
U e ST & e & w9 i
qRe e &

(A) e
(B) T M
€ . zRE

0)  TH. . TEEE




37,

38.

39.

40,

Lib.Sc./140

Communication

Informal

knowledgeable persons is known as:
(A) Invisible College

(B) Information Gatekeeper

(C) Communication Gatekeeper

(D) Knowledge Management

Which of the following is the search engine 38

for scientific information only ?

(&) Google
(B)  SCIRUS
(C)  Yahoo
D) Alta Vista

Encyclopedia of Library and Information  39.
Science is published by:

(A) H. W. Wilson
(B) . . Bowker
(C) Marcel Dekker

(D)  Andrew Deutsch

‘Fair use’ is the norm for determining the ~ 40.

legality of:
(A) Producing the second edition of a
book

(B) Photocopying an entire book

(C) Making available a book to another

library on inter-library loan

(D) Prescribing a book as a text book

(13)

among  37.
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10.

12,

13.

replaced immediately by a
correct booklet from the
invigilator within the period of
5 minutes, Afterwards, neither
the guestion booklet will be
replaced nor any extra time be
given.

(c)  After this verification is over,
the question booklet number
should be entered in the OMR
answer sheet.

Each item has four alternative

responses marked (A), (B), (C) and

(D). You should darken correct answer

in corresponding circle.

Your response to the item is to be

indicated in the OMR answer sheetonly.

Answers marked in question booklet

will not be evaluated. Rough work is

to be done at the end of this booklet.

You have to retum the question booklet

and original copy of OMR Answer

sheet to the invigilator and get the
student's copy of OMR Sheet at the
end of examination compulsorily.

Use of any calculator, mobile, log table
or any electronic gadgets elc. is
prohibited.

In case of any mismatch of questions,
the English version will deemed to be
carrect, if the question bocklet is
bilingual.

For each question, darken only one
circle on the Answer Sheet. If you
darken more than one circle or darken
a circle partially, the answer will be
treated as incorrect.

Note that the answer once filled in ink
cannot be changed. If you do notwish
to attempt a question, leave all the
circles in the corresponding row blank.
Such question will be awarded zero
mark.
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started in 1857 7

(A) Lucknow

(B) Jhansi
(C) Meerut
(D) Kanpur

—_

From where the first was of Independence

Muhammad-bin-Tughlaq shifted his capital
from Delhi to :
(A) Daulatabad
(B) Kalinjar
(C) Kannauj
(D) Lahore
3. Who among the following is called ‘Father
of Indian Renaissance' ?
(A) Raja Ram Mohan Roy
(B) Dayanand Saraswati
(C)  Bal Gangadhar Tilak
(D) Gopal Krishna Gokhale
4, Who was the founder of Gangaikonda
Cholapuram ?
(&)  Rajargjl
(B) Rajadhiraj
(C)  Rajendral
D)  Vijayaditya
AMBEDKAR CHAIR/120
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" Bhimbetaka is famous for:
(&)  Temples

(B)  Sculptures

(C) Buddhist and Jain Caves

(D) Rock Paintings

The birth place of Mahavira was :
(A) Kundigram near Vaishali
(B) Pavapuri

{C) Kushinagar

(D) Samath

Tariff policy is associated with :
(A)  Import tax

(B)  Export tax

(C) Custom duty

(D) All of the above

AMBEDKAR CHAIR/120

e S @
A ARl & g
® % e
€ @ ud SN gwel &

o) i & WU

HediT & T o

@ B & Fere e

8) e

©  FEm

0) &

U S & A R
(A) oM = F

B) e & @

© g
(0  SugF wd




8. Who used the production possibility curve 8.

in international trade theory ?
(A) Haberler

(B) Marshall

(C}  Pigou

(0)  Adam Smith

4. Principle of Sustainable development is g,
given by .

(A) otockholm declaration
(B) Rio declaration
(C) Kyoto protocol

(D) Enviranment Law

10. The classical economists focused on the 10,

role of money as .

(&) Medium of exchange
(B) Medium of distribution
(C)  Wealth

(D) Link between present and future

1. Square root of variance is known as : 11,

(A) Quartile deviation
(B) Mean deviation
(C) Standard deviation

(D) Range

AMBEDEKAR CHAIR/120 (35)
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12. The concept of 'Vicious Circle of Poverty’ 12,

is associated with :

(A) Kindleberger

(B) Schumpeter

(C) Ragnar Nurkse

(D) Gunnar Myrdal

12 The book 'Poverty of Historicism' was written 13

by .

(A) Radcliffe Brown
(B) Max Weber
(C) K. Popper

(D) Kutin

14. Who called middle class as "White Collar 14

Class" ?

(A) Parsons

(B) Anthony Giddens

(C) Merton
(D)  C.W. Mills
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18, __.____ research might be useful for 15
generating hypothesis to be tested in
research
(4) Qualitative, Quantitative
(B) Qualitative, Qualitative
(C) Historical, Quantitative
(D) Qualitative, Historical

18. Anthony Giddens idea of time-space 16,
distanciation is about ___ .

(A) Reduction of time and space

(B) Separation of space from time

(C) Separation of time from space

(D) Reduction of distance through time

17. Schutz was interested in _____ , the ways in  17.
which experienced phenomena were
classified according to previous experiences.

(A) Phenomenology
(B) Commeon sense
(C) Typification
(D) Intersubjectivity
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18. Radhakamal Mukherjee's General Theory
of Society seeks to explé'm the value of @ ;
(A) ~  Universal Society
(B) Universal Civilization
(C) Universal Culture
(D) Universal Structure

19. According to Karl Marx, poverty is the result
of exploitation, not of .
(A) Surplus value
(B) Unemployment
(€ Scarcity
() Capitalism

20. Which among the following elements is not
an essential characteristic of Indian
Philosophy 7
(A) Law of Karma
(B) Spiritualism
(C) Pessimism
(D) Faith in moral order

21 Right of Children to free and compulsory
education in India is commenced from :
(A) 26 August, 2009
(B) 1 Apri, 2010
(C) 26 August 2010
(D) 1 April, 2009
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22, The propounder of TAT personality testis : 22,

(&) Murray and Morgan

(B)  Morgan and Monero

(C) Rorscha
(D) Binnet
23, Which has the least scope ? 23.

(A) Assessment
(B) Measurement
(C) Evaluation

() Test

24, Which is an indication of positional 24,

average 7
" q
B M
© M
o Z

2b; In the testing of hypothesis, type-one error 25,

is related fo :

(A) Significance level
(B)  Power to test

(C) Degree of freedom

(D) Small sample
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26.

27,

26.

Which one of the following cannot be placed  26.

under the category of variable 7
(A) Intelligence

{8) Anxiety

(C) Level of illumination

(D) Extra sensory perception

Who was the founder of Indian Mational

21,

Congress ?

(&) Allan Octavian Hume

(B) Mohandas Karamchand Gandhi

(C) Frederick Hamilton Dufferin

) Jawaharial Nehru

Who was the founder of Bhartiya Jan Sangh 7 28.

(A) Shyama Prasad Mukherjee

(B) Atal Bihari Vajpayee

(C) Lal Krishna Advani

(D) Al of the above
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30.

3.

AMBEDKAR CHAIR/120

Whose death has been a mystry among 29

these ?

(&) Shyama Prasad Mukherjee
(B) Deendayal Upadhyaya

(C) Subhas Chandra Bose

(D) All of the above

Which of these is not related to India's 30,

Foreign Policy ?

(A)  SAGAR
(B]  MAIRI

C)  MAUSAM
(D)  ROUSHINI

Many NGO's license was suspended 3.
recently because of :
(A) Mis-utilization of funds
(B) Not submitting annual returns in time
(C) Non-maintenance of proper account
(D)  All of the above
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32, Which of these is not a democracy 7
(A) People's Republic of China
(B) Saudi Arabia
(C)  North Korea
(D) All of the above
33. Who said, ‘Our daily behaviour which
strengthens our history, society and nation
is our Dharma' ?
(A) Mohandas Karamchand Gandhi
(B) Vinayak Damodar Savarkar
(C)  Vallabhbhai Patel
(D) Aurobindo Ghosh
34. Which one of the following is the correct
sequence of the given hills starting from
north and going towards the south ?
(A) Nallamala Hills-Nilgiri Hills-Javadi
Hills-Anaimalai Hills
(B) Anaimalai Hills-Javadi Hills-Nilgiri
Hills-Nallamala Hills
(C) Nallamala Hills-Javadi Hills-Nilgiri
Hills-Anaimalai Hills
(D) Anaimalai Hills-Nilgiri Hills-Javadi
Hills-Nallamala Hills
AMBEDE AR CHAIR/ 20 (1
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35. Port Blair is situated in 35,
{A) North Andaman
{B) South Andaman
(C) Middle Andaman
(D) Little Andaman
36. Regional development is a 36.
(A) Single Functional Approach
(B) Multi-functional Approach
(C) Place of prosperity
(D) Regionalization of population
distribution
3. Match the following : 37.
List-| List-ll
(a) Iron and steel 1. Ports mouth
(b) Automobile 2. Dortmund
(c) Ship Building 3. Bangalore
(d) Aircraft 4. Detrait
Code:
@ (b} (d
(A) 2 1 4 3
B] 4 3 2 1
c 1 2 3 4
(D) Vi 4 1 3
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38.  Rural Infrastructure Development Fund  38.
(RIDF) was instituted by which of the
following ?

(A) NABARD

(B) R8I

(C) Fin.ance Ministry

(D) Ministry of Home Affairs

39.  Which of the following states is not 39
connected with the H.V.J. Pipeline ?
(A) Madhya Pradesh
(B) Gujarat
(C) Maharashtra
(D) Uttar Pradesh

40. There is no scheduled caste population  40.
in:

(A) Punjab
(B) Nagaland
(C) Gujarat
D) Manipur
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12.

13.

replaced immediately by a
correct booklet from the
invigilator within the period of
5 minutes, Afterwards, neither
the question booklet will be
replaced nor any extra time be
given.

(c)  After this verification is over,
the question booklet number
should be entered in the OMR
answer sheet.

Each item has four alternative

responses marked (A), (B), (C) and

(D). You should darken correct answer

in corresponding circle.

Your response to the item is to be

indicated in the OMR answer sheetonly.

Answers marked in question booklet

will not be evaluated. Rough work is

to be done at the end of this booklet.

You have to return the question booklet

and original copy of OMR Answer

sheet to the invigilator and get the
student's copy of OMR Sheet at the
end of examination compulsorily.

lUse of any calculator, mobile, log table
or any electronic gadgets etc. Is
prohibited.

In case of any mismatch of questions,
the English version will deemed to be
correct, if the question booklet is
bilingual.

For each question, darken only one
circle on the Answer Sheet. If you
darken more than one circle or darken
a circle partially, the answer will be
treated as incorrect.

Note that the answer once filled inink
cannot be changed. If you do not wish
to attempt a question, leave all the
circles in the corresponding row blank.
Such question will be awarded zero
mark.
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